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 “Value in Process”:  On the Temporality and Internal Consistency of Marx’s Capital

by Andrew Kliman

in the circulation M–C–M, value … now becomes value in process, money in process, and, as such, capital.  It comes out of circulation, enters into it again, preserves and multiplies itself within circulation, emerges from it with an increased size, and starts the same cycle again and again.  –– Marx (1977:256)

I.  The New Value Controversy

For more than 100 years, various economic theorists have claimed that Marx’s value theory has been proven to be internally inconsistent. The internal inconsistency issue was the subject of heated debate during the 1970s, but by the early 1980s it became clear that Marx’s critics had won a decisive theoretical victory.  Almost all parties to the controversy, even Marxists claiming to work in the tradition of Marx’s value theory, agreed that this theory in its original form is internally inconsistent (or, euphemistically, that “Marx made errors.”)

Yet a new value theory controversy has arisen and gained steam during the past five years or so.  In many respects, it is still the same old controversy.  The positions in the debate are the same, and the same issue –– internal consistency –– is still the central one.  It is a new controversy only in the sense that one of the positions, although in existence since at least 1980 (Perez 1980), has gained attention only recently, and through much effort.  

Proponents of this position, now known as the temporal single-system interpretation (TSSI) of Marx’s value theory, claim to have refuted all of the alleged proofs of internal inconsistency in its quantitative dimension.  The inconsistencies, they maintain, arise not from Marx’s theory itself, but from others’ misinterpretations of it.  What seemed to be indefensible conclusions –– the law of the falling profit rate, the notion that all profit comes from unpaid labor, etc. –– re-emerge as logically coherent ones under the TSSI (see, e.e., Freeman and Carchedi (eds.) 1996; Kliman and McGlone 1999).

The purpose of this paper, written by a proponent of the TSSI, is to introduce philosophers and others who are not specialists in value theory to the new controversy.  After discussing why I think the internal inconsistency issue is significant, I will briefly sketch out what the TSSI is and how it differs from other interpretations of the quantitative dimension of Marx’s value theory.  

In the remainder of the paper, I will try to explain why the other interpretations of his theory generate what have appeared to be internal inconsistencies.  I will take up several key issues –– the theory that exploitation is the source of all profit, the claims the concept of value is “redundant” and indeed meaningless (because values can be negative), and Marx’s law of the falling rate of profit.  In each case, I will try to show that the other interpretations fail to replicate Marx’s theoretical conclusions precisely because they are all atemporal (or “simultaneist”) interpretations, and simultaneous valuation is simply incompatible with the principle upon which Marx’s value theory is based, the principle that value is determined by labor-time.   I hope that this discussion will also give the reader an intuitive sense of why the alleged internal inconsistencies disappear, and of how it is possible to replicate Marx’s conclusions, once value in his theory is understood as being determined temporally rather than simultaneously.

Although this paper, and the value controversy itself, may be unfamiliar and seem arcane and technical, I believe that the underlying issues are akin to issues that are widely discussed among non-economists interested in Marxian theory.  For instance, whether commodities’ values in Marx’s theory are determined temporally or atemporally may relate to ongoing debates over process versus structure and over the importance of history.  Perhaps less obviously, the value theory controversy may be relevant to debates about materialism and determinism, especially technological determinism.  This is because the main alternatives to the temporal interpretation imply that value, price, and profit in Marx’s theory are ultimately determined by “physical quantities” –– technology and workers’ consumption bundles.  

II.  Why the Internal Inconsistency Issue Matters

In any case, the value controversy is not as arcane as is sometimes supposed.  Its presence is felt outside of the small circle of Marxian economists.  For one thing, the allegations of internal inconsistency have frequently been used to justify the near-total exclusion of Marx from the discipline of economics.  

A few years ago, for instance, Anthony Brewer (1995) wrote a lead symposium article in the major journal of the history of economic thought which argued that Marx’s work simply should not be studied or discussed by economists, even in the journals dealing with the history of economic thought.  (At an earlier stage of his career, Brewer had been quite sympathetic to Marx’s work and had written both a book on imperialism and a guide to Capital.)  Brewer (1995:140) justified this recommendation principally by invoking the alleged internal inconsistency of Capital: 

[I]n Marx’s own terms … Capital must be counted a magnificent failure. … Much of the debate over Marx’s economics has focused on [the internal coherence of his value theory and law of the tendential fall in the profit rate], and for good reason.  If both fail, as they do, not much is left.

The allegations of internal inconsistency have also made their way into broader public discourse, and have had an effect upon it.  What the experts allege is commonly accepted by the non-experts.   For instance, in an otherwise extremely appreciative essay on Marx in The New Yorker a few years ago, which among other things billed him as “The Next Thinker,” Cassidy (1997:252) dismissed Marx’s value theory, and thereby also his “model of the economy,” in one quick sentence:  “Marx’s … mathematical model of the economy, which depended on the idea that labor is the source of all value, was riven with internal inconsistencies and is rarely studied these days.”

Another example of the effect of the internal inconsistency allegations on broader public discourse is the much-discussed recent work on economic crisis and crisis theory written by Brenner (1998), a Marxist historian, which was published as a special issue of the New Left Review.  One might expect that a Marxist writing a book-length work on crisis would deal with Marx’s own crisis theory in some depth.  Yet so ubiquitous are the allegations of internal inconsistency –– they come from Marxist economists such as Nobuo Okishio and John Roemer as well as non-Marxists –– that Brenner disposed of Marx’s theory in a single footnote. On the basis of his value theory, Marx had argued that labor-saving technological change tends to lower the rate of profit.  However, Brenner (1998:12n) responded,

[If capitalists] adopt technical changes that raise their own rate of profit … the ultimate result of their innovation … certainly cannot be to reduce the rate of profit.  Formal proofs of this result can be found in N. Okishio … as well as in J. Roemer ….


Instances such as these –– and there are many others –– show that the internal consistency issue is taken seriously and treated as a matter of consequence outside the confines of Marxian economics.  But should those who seek to learn from and develop Marx’s critique of political economy also treat it that way?  Critics of the TSSI frequently suggest that its proponents are overly concerned with the issue.  What will convince people of the cogency of Marx’s work, they say, is our use of it to explain current economic phenomena, not technical and textual defenses of its internal coherence.  

This is undoubtedly correct.  However, such comments misconstrue the purposes of TSSI refutations of the internal inconsistency allegations.  They are not intended to persuade people of the cogency of Marx’s theory.  Rather, their primary function is that of setting the historical record straight and making clear that what have been portrayed as rigorous and purely scientific critiques of Marx’s reasoning are actually an ideological attack on his body of ideas.  (To allege internal inconsistency when it has been proved is one thing, but the fact that Marx’s critics continue to allege it even though they are aware that the proofs of his internal inconsistencies have been refuted shows that the critiques are ideological in nature.)

Another reason it is important to address the allegations of internal inconsistency is that serious obstacles stand in the way of those who would wish directly and immediately to use Marx’s work to help explain current economic phenomena.  It is extremely difficult to gain a hearing for a theory when it is excluded from journals, even radical journals, and dismissed on grounds of internal inconsistency.  So it seems that addressing the internal inconsistency issue must take precedence over, or at least go hand-in-hand with, the positive development of the critique of political economy on the foundations laid by Marx, even if one wishes that this weren’t the case.  

Those who care principally about persuading people of the cogency of Marx’s work should also take the internal consistency issue seriously for another reason.  If one cares about the validity of one’s explanations, and is not seeking merely to persuade, one must first address the issue of internal inconsistency.  Something that is internally inconsistent simply cannot possibly be true, no matter how plausible it may seem and no matter how much the empirical evidence may seem to support it. Thus, if Marx’s theories of values and economic crisis are untenable even on their own terms, they must necessarily be either corrected or rejected, and it is arguably proper to exclude them –– in their original form –– from consideration.  No further justification is needed.  

III.  Differing Interpretations of Marx’s Value Theory

At present, there exist four different sets of interpretations of the quantitative dimension of Marx’s value theory.  They differ with respect to two issues.  

First, are commodities’ prices (and values) determined simultaneously or temporally?    The notion that they are determined simultaneously means that input prices are constrained to equal output prices.  For instance, a hammer used as an input at the start of the day is constrained to be worth exactly what a hammer that emerges as an output at the end of the day is worth.  In effect, the passage of time is negated.  Under temporal (real-time) valuation, no such constraint exists.  Input and output prices may happen to equal one another, but they are allowed to differ.

Second, how are the magnitudes of “constant capital” and “variable capital” determined?  The standard, dual-system, interpretation holds that they depend on the values of means of production and labor-power, respectively, i.e., the amounts of labor needed to reproduce the means of production and labor-power.
  The single-system interpretations –– both the TSSI and the single-system interpretations which maintain that Marx understood valuation to be simultaneous –– holds that the magnitudes of constant and variable capital depend on the sums of value needed to acquire (and thus the prices rather than the values) of means of production and labor-power.  Finally, the “New Interpretation” or “New Solution” adheres to the intermediate position that the constant capital depends on the value of means of production, but variable capital depends on the price of labor-power.  

Table 1 maps the different interpretations, and their advocates, with respect to the issues under contention.  In a formal sense, it is only with respect to these two issues that the interpretations differ.  
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Although these differences may seem technical and the issues trivial, they have immense ramifications.  Table 2 examines the extent to which the standard (simultaneous dual-system) interpretation, the simultaneous single-system interpretation, and the TSSI are able to replicate Marx’s theoretical results (for further elaboration, see Kliman and McGlone 1999).  Thirteen different results are listed.   The point is not that an interpretation should be able to replicate any particular result because it is an especially important one  –– some are, in my estimation, while others aren’t –– but that when one examines the table as a whole, what emerges is a strikingly clear pattern.

With a couple of exceptions, the dual-system interpretation is unable to replicate Marx’s results.  Both the simultaneous and temporal single-system interpretations are able to replicate the results that pertain to equalities and inequalities,  But only the latter is able to replicate the results that pertain to determination.
   Since the only difference, formally speaking, between the simultaneous and temporal single-system interpretations is whether valuation in Marx’s theory is understood to be simultaneous or temporal, it seems clear that this difference is responsible for their differing implications.  Yet why is that so?

Table 2
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IV.  Simultaneous Valuation vs. Marx’s Value Theory


Marx’s critics claim to show that his premises and concepts fail to lead to his theoretical conclusions.  In fact, they do not show this.  What they do is translate Marx’s actual premises, concepts, etc. into different terms, by means of a particular kind of mathematical formalization.  Then they show that the translated premises, concepts, etc. fail to lead to his conclusions.  So the method used to prove internal inconsistency is invalid, and it is possible that inconsistencies are external rather than internal.  It is possible, in other words, that the mathematical formalizations are inconsistent with Marx’s actual theory.   I hope to show that this is indeed the case.

The mathematical formalizations in question have the same character, without exception.  They are simultaneist; they employ the method of simultaneous valuation.  As we will see shortly, simultaneous valuation is incompatible with the principle upon which Marx’s value theory is based, the principle that value is determined by labor-time.  Thus the proofs of internal inconsistency fail because because the apparent self-contradictions disappear once one stops valuing things simultaneously.
   In contrast, the TSSI obtains Marx’s results mostly because it repudiates simultaneous valuation, replacing it with temporal valuation and with Marx’s principle that value is determined by labor-time.
  


But how does simultaneous valuation contradict the principle that value is determined by labor-time?  Imagine that corn is produced using only corn of the same kind, planted as seed, plus the labor of farmworkers.  A simultaneist theorist will stipulate that a quarter of seed corn planted at the start of the year is worth exactly as much as a quarter of corn harvested at the end. 

Thus if a quarter of seed corn is worth ₤5, a quarter of corn output must also be worth ₤5, no matter how much or how little the farmworkers have had to labor in order to produce it.   They may have had to toil 1000 hours, or only 10 hours –– or not at all!  It makes no difference; the value of the corn output cannot rise above nor fall below the price of the seed corn.  Thus the magnitude of the corn’s value simply does not depend in any meaningful sense on the amount of labor required for its production.  

Putting the same point differently, simultaneous valuation in effect prevents changes in productivity from affecting the price, or value, of corn.  Contrast this to the real world:  when productivity rises –– when the same amount of labor yields more output ​​–– commodities’ prices tend to fall.  This is essentially what Marx meant by saying that value is determined by labor-time.  But we don’t need a Marx to tell us this; every farmer knows that he can get a higher price for a quarter of his corn after a bad harvest than after a good one.  Simultaneism, on the other hand, implies that a quarter of corn output cannot be worth more than a quarter of seed corn after a bad harvest, nor less than a quarter of seed corn after a good one.

Of course, no one actually believes that prices remain constant over time in the real world.  Nevertheless, when they try to prove Marx guilty of internal inconsistency and to correct him, simultaneist theorists do indeed stipulate that prices are constant over the course of the production period.  If his theoretical results contradict the results they obtain by valuing everything simultaneously, they pronounce him guilty of error or internal inconsistency.

V.  Profit Without Surplus-Labor Under Simultaneous Valuation

By suppressing the changes in price that result from changes in productivity, simultaneism also implies that profit really has nothing to do with the unpaid labor of workers.  To understand why this is so, it will be helpful to consider V. K. Dmitriev’s use of simultaneous valuation to try to disprove Marx’s theory of profit. 

Dmitriev is the foremost predecessor of Sraffian economics.  Writing a century ago, he unflinchingly pursued the logic of simultaneism to its conclusion:  profit does not require human labor at all.  We can, he argued  

imagine a case in which all products are produced exclusively by the work of machines, so that no unit of living labour … participates in production …. [A]n industrial profit may occur … [,] a profit which will not differ essentially in any way from the profit obtained by present-day capitalists. [Dmitriev 1974:63]

[Although] wage labour is not used in production, …‘surplus value’ will nevertheless arise, and … consequently, there will be profit on capital.  [Dmitriev 1974:214] 

Dmitriev never mentioned Marx by name, but his use of terms like “living labour” and “surplus value” makes clear who his target was.  That the editor of Dmitriev’s book could state that “his system of thought is compatible with Marxian economics” (Nuti 1974:7) only indicates how far mainstream Marxian economics had departed by 1974 from Marx’s own work. 

To try to prove his claim, Dmitriev constructed a complex example in which various types of machines produce new machines as well as consumer goods.  Yet the essential point emerges more clearly if we consider a case in which one kind of machine produces replicas of itself, without any human labor.  Imagine that the year begins with 10 machines.  At the end of the year, these particular machines no longer exist –– they have worn out –– but in the meantime they have produced 12 replicas of themselves.  

Profit equals whatever the 12 new machines are worth, minus whatever the 10 original machines were worth.  In principle, the amount of profit could be anything.  Profit will be high if a new machine is worth more than an original one, and low or even negative if it is worth less.  

It seems to me that Marx’s value theory implies that profit will be zero.  In his theory, living labor is the source of all “new value,” i.e., all value added in the production process.  Here there is no living labor, so no value is added.  The sum of value with which the capitalists began the year, the value of the original 10 machines, is the sum of value with which they end.  Thus the 12 new machines are worth exactly what the 10 original machines were worth, and profit is zero.  

Notice that this means that the price of a machine has fallen.  Each new machine is worth only 10/12th of what an original machine was worth.  

It was precisely by preventing this drop in price from occurring –– that is, precisely by resorting to simultaneous valuation –– that Dmitriev endowed his machines with the capacity to create new value, and thus profit.  If the price of a machine remains constant, then the 12 new machines must be worth more than the 10 original machines, so that profit must be positive.  

Yet why should the machines’ price remain constant?  Dmitriev provided not a word of argument to justify this assumption.  Without it, however, his attempt to disprove Marx’s theory simply collapses.

What Dmitriev actually showed was that simultaneous valuation is incompatible with Marx’s theory of profit.  It doesn’t matter that a fully automated economy would not be capitalist; the point is that profit in such an economy would “not differ essentially in any way from the profit obtained by present-day capitalists.”  It follows from this that even when human labor is employed, it isn’t the source of profit.  The source of profit, according to simultaneism, is the fact that physical output is greater than physical input. 

In marked contrast to Dmitriev, later simultaneist theorists have downplayed this contradiction between their models and Marx’s theory.  But the contradiction is still there, because it has nothing to do with the theorist’s attitude toward Marx.  It is a necessary consequence of simultaneous valuation itself.

VI.  Surplus-Labor Without Profit Under Simultaneous Valuation

We have seen that the simultaneist interpretations of Marx imply that profit can arise even if workers perform no surplus labor.  These interpretations also imply that profit could be negative although workers have performed surplus labor.  So something more than surplus labor is needed for profit.  This conclusion also contradicts Marx’s theory.  

The problem is again simultaneism.  Fluctuations in the levels of output and prices of different goods can make profit negative despite positive surplus labor when things are valued simultaneously.  Readers who wish to verify this fact for themselves should work through the example provided in Table 3.  But the table is there only for proof, not additional explanation, so readers who do not wish to check the proof can skip it without loss of continuity. 

Profit is negative in the example given in Table 3, although surplus labor is positive, because of the way in which output levels and the price of Good B fluctuated.  In reality, such fluctuations are probably not large enough to produce cases in which profit is negative although surplus labor is positive.  Yet this does not mean that simultaneism is compatible with Marx’s profit theory.  On the contrary, it means that simultaneism implies that something more than surplus labor ––output levels and prices that don’t fluctuate too much –– is needed in order for profit to be positive.

The TSSI, in contrast, implies that surplus labor is both necessary and sufficient for “real” (inflation-adjusted) profit to exist.  The proof is straightforward, but too complex to develop here; interested readers should see Kliman (2001).

	Table 3



	
	Inputs Used Up
	

	
	Sector
	Living

Labor
	Good

A
	Good

B
	Output

Produced
	Unit Price
	Maximum

Profit

	

	1st
Hour
	A
	2
	1000
	1000
	2002
	₤1.00
	– ₤8.00

	
	B
	1
	  500
	  500
	1001
	₤1.01
	   ₤6.01

	
	Total
	3
	1500
	1500
	
	– ₤1.99

	

	2nd
Hour
	A
	1
	  500
	  500
	1001
	₤1.00
	   ₤6.00

	
	B
	2
	1000
	1000
	2002
	₤0.99
	– ₤8.02

	
	Total
	3
	1500
	1500
	
	– ₤2.02

	

	1st + 2nd
Hour
	A
	3
	1500
	1500
	3003
	
	– ₤2.00

	
	B
	3
	1500
	1500
	3003
	
	– ₤2.01

	
	Total
	6
	3000
	3000
	
	
	– ₤4.01

	Notes:  

(1) During the 1st hour, 2 workers in Sector A use up 1000 units of Good A and 1000 units of Good B in order to produce 2002 new units of Good A.  The sector’s maximum profit –– its profit if wages were zero –– equals the price of its output minus the cost of its inputs.  Since we are valuing everything simultaneously, the inputs and output have the same price.  Thus Sector A’s maximum profit is (₤1.00 ( 2002) – (₤1.00 ( 1000) – (₤1.01 ( 1000)  = – ₤8.  The other rows read the same way.

(2) Over the course of the two hours, more of each good is produced (3003 units) than is used up (3000 units). The economy is therefore able to reproduce itself physically, and even grow over time.

(3) The negative totals in the Maximum Profit column show that total profit in the economy must be negative in both hours, even if workers were paid nothing.  Nonetheless, workers have performed 3 hours of work during each hour and, if their wages are low enough, they will have performed some unpaid, surplus labor.
 



VII.  The “Redundancy” and Meaninglessness of Value Under Simultaneism

During the last three decades, much has been made of the alleged “redundancy” of the concept of value.  Sraffians, as well as some Marxist economists, have argued that even when rates of profit can be expressed in terms of values, they are actually determined by “physical quantities” –– inputs, outputs, and workers’ “consumption bundles.”   This notion has usually been discussed in connection with the “transformation problem,” but in fact the redundancy of value has nothing to do with deviations of prices from values.  Redundancy is purely a consequence of simultaneous valuation.  Repudiate simultaneous valuation and one eliminates the redundancy of value.

This can be seen clearly by returning to the case of an economy in which corn, the only product, is produced solely by means of seed corn and living labor.  (Such “corn models” are a favorite device of many simultaneist theorists, especially Sraffians.)   Since there is only one sector, there cannot possibly be a “transformation problem” –– transfers of value across sectors cannot cause prices to deviate from values.  So the price of corn equals its value.

Imagine that the capitalist farmers invest 10 quarters of corn at the start of the year, to use as seed and to pay wages, while 12 quarters of corn are harvested at year’s end.  If we value the investment and the output simultaneously –– i.e., stipulate that they have the same price per quarter –– then the 12 quarters of output must be worth exactly 20% more than the 10 quarters that were invested initially.  So profit must be equal to 20% of the sum of value invested.  But profit as a percentage of investment is precisely what is meant by the rate of profit.  So the rate of profit must equal 20%.

Now notice two things.  First, it doesn’t matter what the value (= price) of corn is.  Whether it is high or low, the rate of profit must be exactly 20%.  So value is redundant.  (What a wonderful world!  The farmers need not worry about the price of their corn falling, nor waste money on marketing and advertising in order to get a higher price.)  Second, the rate of profit is identical to the rate of increase in corn, the 20% difference between the corn produced and the corn invested.  This will always be the case.  If the harvest had yielded only 11 quarters, the rate of profit would have been 10%.  If the harvest had yielded 13 quarters, the rate of profit would have been 30%.  So the rate of profit is determined exclusively by physical quantities –– input, output, and the farmworkers’ consumption bundle.

These conclusions clearly depend crucially on simultaneous valuation.   If the value of corn is not constant, but is determined by labor-time –– if, in other words, its value falls as productivity rises –– the conclusions may be quite the opposite.  Imagine that the initial value is ₤156/quarter, while the value of the corn output is also ₤156 if 11 quarters are harvested, but falls to ₤143 if 12 quarters are harvested and ₤132 if 13 quarters are harvested.  In all three cases, the rate of profit will be 10%.  The rate of profit no longer depends only upon physical quantities.  It also depends on changes in the value of corn.  Value is no longer redundant.   

Our corn model also allows us to illustrate in a simple way another peculiar consequence of simultaneous valuation –– negative values.  Imagine that 10 quarters of seed corn are planted at the start of the year, and the farmworkers perform 4000 hours of labor during the year.  But because of bad weather, only 8 quarters of corn are harvested at year's end.  It seems to me that Marx’s theory implies that the 8 quarters of output will be worth more than the 10 quarters of seed corn, because living labor has added new value in production.  But simultaneism tells us that the 8 quarters are worth only 8/10ths as much as the 10 quarters.  This leads to the meaningless result that the value per quarter, measured in terms of labor-time, is –2000 labor-hours: 

                     Total value of product 
=            Value of inputs 
+    Value added 

                 (value/qtr
(  qtrs of output) 
=    (value/qtr 
(   qtrs of input) 
+     labor hours 

                    (–2000 
(       8) 
=      (–2000  
(       10) 
+         4000 

                            –16,000
=                –20,000 
+         4000 


The above examples demonstrate that simultaneous valuation implies that value is redundant, and that values can be negative, even when prices equal values.  These problems therefore have nothing to do with the alleged “transformation problem.”  And therefore even the simultaneist interpretations of Marx that do “solve the transformation problem” imply that value is a redundant and meaningless notion.

VIII.  The Law of the Rising Simultaneist Rate of Profit


Let’s turn, finally, to the key to Marx’s theory of capitalist crisis, the law he considered to be “the most important law of modern political economy” (Marx 1973:748):  his law of the tendential fall in the profit rate (Marx 1981, Part 3). This law lies at the center of his contention that economic crises are inevitable and unavoidable under capitalism.  Marx argued that the very nature of capitalism compels companies to seek ever-greater profit, and thus to adopt more productive, labor-saving innovations in the workplace.  But although individual companies can raise their own rates of profit in this way, Marx argued, such innovations will necessarily tend to lower the economy-wide average profit rate.  


As we’ve seen throughout this essay, simultaneous valuation contradicts key elements of Marx’s theories for a very simple reason:  it is incompatible with the determination of value by labor-time.  In other words, simultaneous valuation artificially prevents increases in productivity from depressing commodities’ prices (or values).  This is likewise the reason why simultaneism implies that Marx’s law is false.   

Marx held that the profit rate tends to fall as productivity rises and because productivity rises.
  Simultaneist theorists have tried to prove that this cannot possibly be the case.  They agree that the profit rate may fall, but not because productivity rises.  Indeed, when everything is valued simultaneously, then rising productivity will necessarily tend to raise the profit rate, not lower it.  As we saw above, if productivity increases cause the corn output to rise from 11 quarters to 12 quarters to 13 quarters for every 10 quarters of corn invested, then this “material rate of profit” necessarily rises from 10% to 20% to 30%. 

Yet once we recognize that increases in productivity tend to depress prices, Marx’s law seems quite reasonable.  Compelled to seek ever-greater profit, companies adopt more productive, labor-saving innovations.  On the one hand, the productivity increases raise physical output in relation to physical input.  It is this effect upon which simultaneism focuses.  But there is also an offsetting effect that simultaneism ignores:  these very same productivity increases tend to cause values and prices to fall over time.  As a result, the actual (value, price) rate of profit will always tend to fall in relation to the “material rate of profit” of the simultaneist theorists.  It is thus possible for the actual rate of profit to decline continually over time although the “material rate of profit” is continually rising (see, e.g., Freeman and Kliman 2000).  

Without further information, it is not really possible to say more than this about the path the actual rate of profit will take over time.  Its path depends on how, and how fast, technology, prices, wages, and other factors change.  But the above account should be sufficient to explain how productivity increases may cause the rate of profit to fall and therefore to explain what’s wrong with simultaneist attempts to prove that such a fall is impossible.   

This point is quite important, because Marx’s critics have tried to dismiss his theories of the falling rate of profit and economic crisis without even examining the factual evidence.  As John Roemer (1981:113), an Analytical Marxist critic of Marx, has noted, what’s the point of looking at the evidence if it is impossible that Marx’s profit rate theory is true?  So the TSSI demonstrations that Marx’s theory may possibly be right indicate that this theory deserves to be looked at again, with fresh eyes, and on the basis of the evidence. 

IX. Summary and Conclusion

This paper has argued that the alleged proofs of “errors” or internal inconsistencies in Marx’s value theory are not valid, and that they have been refuted.  When valuation in Marx’s theory is understood to be temporal rather than simultaneous, the inconsistencies disappear and his contested arguments re-emerge as logically sound ones.   The reason atemporal or simultaneist interpretations generate apparent internal inconsistencies is that simultaneous valuation is incompatible with the determination of value by labor-time, a key tenet of Marx’s value theory.

Since the proofs of internal inconsistency have been refuted, the exclusion of his value theory in its original form is improper.  This doesn’t mean that Marx’s theory is necessarily right, or necessarily fruitful.  A revised version of his theory, or a different theory, may be better.  But it does mean that Marx’s original theory deserves to be considered on an equal footing with others. 
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NOTES

1.  Because this is an introductory essay, and because space is limited, I have decided to deal with these points intuitively, and to refer the reader elsewhere for proofs.


2.  This is called a dual-system interpretation because it severs value determination from price determination.  Although commodities’ prices depend on the prices of means of production and labor-power, their values depend on the values means of production and labor-power and are thus “determined by” a distinct system of equations in which prices are not arguments.


3. I know of no case in which one of the other interpretations replicates a result of Marx’s while the TSSI does not.  Indeed, I know of no case in which the TSSI fails to replicate Marx’s results.


4.  Sections IV through VIII draw heavily on my paper “If It Ain’t Broke, Don’t Correct It,” (Kliman 2002).





5.  In his unsuccessful attempt to prove that Marx's account of the transformation of values into production prices leads to a spurious breakdown of the reproduction process, Bortkiewicz (1952) of course employed Marx’s own –– non-simultaneous –– valuation procedure.  (See McGlone and Kliman 1996 or Kliman and McGlone 1999 for a refutation of Bortkiewicz’s attempted proof.) All other attempted proofs of error or self-internal inconsistency, however, rely upon simultaneous valuation. 


�.  To obtain Marx’s theoretical results, temporal valuation must be combined with the “single-system” interpretation. 


7.  Some simultaneist theorists define “necessary labor” (which one subtracts from living labor in order to obtain surplus labor) as the value of the goods workers consume.   If the wage rate is less than ₤1/hr and workers consume Good A only, then surplus labor in the above example will be positive according to this definition.  Proponents of the “New Interpretation” and the simultaneous single-system interpretations instead define necessary labor as money wages divided by the MELT (monetary expression of labor-time).  Surplus labor must be positive according to this definition, because the simultaneist MELT is negative in both hours of the example.


�.  Here and below, I use the word “tend” to indicate what would happen in the absence of other changes that offset or displace the tendency.  For example, excessive buildup of state and private debt may prop up spending, and thereby offset the tendency for prices to fall as productivity rises.  If  prices remain constant or rise, the tendency of the profit rate to fall may be displaced; economic crisis may take the form of a debt crisis rather than a crisis triggered by falling profitability.
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